








Choose the wrong numeral.

28 twelve eight | twenty-eight
12 twelve twenty
40 fourteen forty

13 thirteen thirty

53 fifty-three | fifteen three

—




Write the numerals as wordls.

1.1'am (11) ....

2.My mum is (40) ....

3.Mike is (29) ....

4.He has got (100) ... ...
books.

—



12+13 =
34 + 45 =
56 - 7 =
88 - 32 =
90 + 4 =
21 + 48 =
/75 - 32 =




11,12, 13, .., 15, ..., 17,
18,19, ..., 21, 22, 23, ..,
..., 20,27, 28, 29, ..., 40,
..., 60, 70, ..., 90, ...

—
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PasmecTnm GykBbI no ctapwuHcTBy - E, O, A, |, Y. B 6ykBoco4yeTaHMM U3 NOObLIX
OYKB M3 3TUX YUTAETCH TONbKO CTapluas, naywasa nepsoun!
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